% JlE
=

30 20

(2817]. 52t

. 4 \L
$
/ ~
- p
| )
7/
/ . %\,
) °°
%
00
\y\
4x~/
‘:\

A\
)-
N g




p.014

01 ®
02 (1) concentrated
(4) contented  (5) detect
03 (1) brought down
(4) let out
04 (1) immune system

(2) apply (3) pollinate

(2) drained off (3) set sail

(2) stretch of
(3) organic matter
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Q1 If the technology worked, could offer
Q2 It is the Nobel Peace Prize thatlwhich] they deserve for making

the world a better place.
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01 (1) If she didn’t have much work to do, she wouldn’t be busy now.
(2) If he knew how to play the game, he would like the game.
(3) Because Joan doesn’t have a good art teacher, she can’t paint
better.
(4) Because my sister is not tall enough, she can’t ride the roller
coaster.
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04 If | had not had my family with me, I could never have succeeded
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03 (1) It was a piece of paper that[which] Ted found in the cookie.
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(3) It was Charles Dickens that[who] wrote the classic story, 04 pierces 05 FOILIL, =ESHt 06 7tei2 Bt =
A Christmas Carol. 07 The more 08 which 09 is 10 that
(4) It was a week ago that[when] | went to a horror movie with 11 st 12 Of4tstErA 13 24 14 1t
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01 (Havorite 02 (c)ontented 03 (Hamiliar 04 (s)neaks
(1) detect (2) saliva (3) encounter (4) corruption (5) defend

) ) 05 (plierces 06 (e)scapes 07 (m)ild 08 (s)cratch
Topic Preview 09 (Victims 10 (s)ignal 11 (s)ensitive 12 (d)etect
€@ €2© GO 13 (Qertain 14 (flemales 15 (dJontain 16 (Vertical
) 17 (d)rains off 18 (c)oncentrated 19 (floating 20 (p)redator
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8 (c)orruption 29 (c)apital 30 (g)round 1 (p)rotect
2 (Jrushing 33 (a)gent 34 (s)ettlers 5 (v)aluable
6 (s)truggling 37 (Naise 38 (p)rospects
9 (e)ncountered 40 (s)tronger 41 (u)nderstanding
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01 pick 02 annoying 03 Beating 04 pierces 05 its
06 leaving 07 more 08 which  09is 10 that
11 sensitive 12 it 13 use 14 attract 15 has risen
16 that 17 to produce 18 bother 19 takes
20 Using 21 which 22 like 23 who 24 was
25 cited 26 surrounded 27 protect 28 coming
29 much 30 another 31 set 32where 33 raise
34 was brought 35 had been 36 much
37 they were 38 that 39these 40 free
mr ey 259 RG] p.036~037
01®@ 020 03 (A) victims (B) allergic 04®
05 making the areas highly prone to malaria outbreaks 06 ®
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01® 02® 03® 04 immune system 05®
06® 07 ® 08 bring 09 ® 106 116
120 13 (A) beneficial (B) harm 140 15®@
16 (A) get rid of (B) ecosystems 170

18 (1) It was three months ago that they launched the new product.
(2) It was an ancient artifact that she discovered during the

190 20®

21 studied — had studied 220 23®

24 It is Lisa that[who] always brings positive energy to the team.

expedition.

25 If our blood did not contain protein, they would not bother us.

26 @ 27®@ 28® 29@® 30® 31®

32 (A) predator (B) diseases 330 34® 35®

36 If their immune systems had been much stronger, they would not
have lost so many lives

37 the end of the nineteenth century that we found out that

mosquitoes spread malaria 38@ 390 40 ®
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(O 2zt H0lli= ATEUETH ARIA TLU0| ZO0HX|Z HIRICHE LHEO| 2t ¢l

ZH Folle 1 AE0] SEYRE EA4E0| HAC= WEO0| FBER

however(Z22{Lt)7} H&5iC},
A AL B EE YE TSk 7SR A s EH0|EE, AHEeR
HHAS W LAAKZ 20
20l Feks DIR7L HEe HEA7 = A = At agent(2921, &921)
ATEUCUM 2 AHES S Tol| 2E 2|0t Tt X0| gitt
OO @ ATEUES FAUUSE iLIOre] FiY HHO| =3UCh'= 2
O L8}t UX|GHK| =Lt

2210 AN

O MZ0F M= 22 +AM710 23X SO,

@ 27z 20t H=E BS6h|E 5t fIF6h | Tt
® Zef2|ot= Z0to| A{E|0) 7|08t 201 & SHAACE

® ATEUE FAIO| ZE FETt THADHOA AFZSHCY,



01 (1) tackle (2) orient (3) capture (4) code
(5) translate
02 (1) put at risk  (2) Shut off (3) have in common

(4) go a long way
03 ®
04 (1) pays off
(4) depending on

(2) comeup  (3) line up
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(5) HABICH SAHBITH ML 25t HOIS T2 A2 HHRC
02 (1)~ A—0| Mot stk 227t MYS s =H 205 S550] O
HMotA g Zo|ch
(2) 1A 717 S8) BRIAZICE MYS O BLHH HREQ MAS Hat
(3) 2EXC2 X|L|Ck: O]=211} 01L2|71210] OfH S S 7H 4= USTN
(4) 3 =20] =Ck: &2 Mefn} Ho17} si=stn HAS e BAs Btes
ol 2 =20| =t
03 DEG®®E= ZF 220 A 0|1, @2 ¢re|o] HAHO|C).
@ ZoH : ZHoH
@ M|ttt @ Msksht
@ SAAIZ|CE: 2SA|7 T
@ M2 : MoiE
® (2HS) CHRLH: TR
04 (1) d33ICt: pay off
(2) ~2 MZtBHLHCE come up with
(3) &2 M, &2 O|2Lt: line up
(4) ~0f| 2t depending on

oIt & p.077~078
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Q4 EE2 FZUHES0| 20 B &0 243 TYHE M= =52 FUL
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01 (1) named Kevin (2) following you (3) covered
(4) called
02 (1) The young girl living next door is very smart.
(2) The rumor related to his arrest shocked us.
(3) The man standing over there is our new English teacher.
(4) This computer made in Korea has good quality.
03 (1) known (2) attending  (3) boring (4) written
04 boring books talking about
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(3) present®t cover= =& &H 0|22 MHEA covered 7t HESICE
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01 (1) what they write about you

(2) what is mostly useless in real life

(3) What surprised me was the fact
02 (1) That — What (2) which — what

(3) what — which[that]

(4) the thing what — the thing whichlthat] = what 03®
04 What the children need most is someone who will listen to them.

01 (1) EAUHAL what=O| FX|AF toQ] SX0{=2 MACE
(2) A HEA what 20| SHNHZ MAFOH ‘UM = in real lifez HE3
oI
(3) ZA YA whatHO| 0|2 MRAOOZ HAESAE 20,
02 (1) That Foil X017} Q= SetHst HO| 0|0{X|22 2| 0| S 5t

ALBE Thats A HHA What22 11X MOF BHTt.
J7h et A2 AFHOIRALY.
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(4) BACHHAL what2 M3AIZ 0]0] Z5t6tT YOI 2 the thing whatS
the thing which[that]Lt whatQ 2 1TX MOF STt
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CHHAF whatO] X &SI,
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Word Preview

(1) access (2) device (3) obstacle (4) competition (5) algorithm
Topic Preview

Q1 ® Q2® Q3O

Word Preview

(1) M2 O HA0 S7HALL FRATIE AEoSHAL, +7E Bit= 52 He
(2) &x|, &Hl: St Y5 ot= 7[AL =7

(3) Yoi=: O™ LS O|F7] A UE= A

(4) 27, 3]: CHE AFMEL O 25t Abg BHo 2l St A

(5) gn2|5: So| ARHO ofe 2 SHES ?I8 ¢ XH

Topic Preview
Q1 YOHAUS2 LY LM O BT &0 A5 ABSh=7 - @ 152 ¥

Q2
k= Olalfat7| s == Z2{0] 2lEstct
Q3 EXts BE FA0| ABE=71 - @ Bt AlZf Hoielo| £2hg Saf ¢l= ol
ArEELC,
witM £ 3_I||/Ig 22 p.090~091
01 experience 02 (e)qual 03 wholthat]
04 deal with 05 While she was thinking
06 successfully 07 that 08 herself
09 A|Z}0| M3 QIO L7t 3D HEE X2 & = UCk= A
10 was 11 Those 12 &M 13 lie 14 which
15 arrangement 16 lying 17 connected
18 lined 19 so that 20 the sensor
1 A28, sligst= 22running 23 JZAE0| 0OtLt =2X|
24 EX|7} =8 A 25 could be connected 26 7|A Hx|
27 came up with 28 thinking 29 based 30 where
31 recognize 32 E7t AACE 33 to identify
34 that[which] 35 are captured 36 are turned

378 380 7|20| M AEE= QML EHUF LRI EE= A
39 What 40 3H =30| =t

JIEHRIZ  © p.072

Step 1
1. about, the primary functions of wearable devices
2. Entertainment 3. the second most, Utility
Step 2

the primary functions of wearable devices for teenagers in 2022, the
most used function, The second most used function, healthcare/
fitness, playing games or listening to music

Q1T Q2F
Q1 & HE2 ANEIE 717|0M 22 7158 71 Hol A3
Q2 7 #e|/28 7152 & S MO0 Bl 7SO T Q17(7F AL

JIEFRIZ © p.073

rREY (S|  ENES] p.094~095

01 (e)xperience 02 (flully 03 (s)ame 04 (g)oods

05 (t)ackle 06 (o)rienting 07 (nequire 08 (d)isabilities
09 (g)ather 10 (cJonveys 11 (naises 12 (i)ndicate
13 (a)head 14 (cJonnected 15 (cJontrol 16 (o)bstacle
17 (Nises 18 (h)igh 19 (s)hut ()t (0)ff 20 (r)ebooted
21 ()magines 22 ()nvent 23 (c)ame (u)p (w)ith

24 (Dranslate 25 (s)top 26 (b)asically

27 (h)ardest 28 (r)ecognize 29 (s)tuck 30 (p)aid (0)ff
31 (flocus 32 (i)mportant 33 (k)ey 34 (r)uns

35 (m)atch 36 (a)ccuracy 37 ()ommunicate

FEned 11



8 (e)nhance 39 (g)o, (Dong (w)ay 40 (a)ccessible

uItN & = =012 p.096~097

MO

01 experience 02 function 03 remains 04 presented

05 thinking 06 that 07 herself 08 was 09 have lost

10 get 11 to gather12 lie 13 that 14 raises

15 where 16 lying 17 connected 18 lined 19 it
20 rises 21 high 22 shut it off 23 that

25 translate 26 thinking 27 artificial
28 basically 29 corresponded 30 recognize

33 Using 34 took
38 existing 39 communicate

24 brainstorming

31 sleeping 32 are 35 runs
36 spoken 37is

40 What
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Lit 1S5 bl

01® 02® 03®@ 4 (n)avigate 05®@
06 @ 07 ® 08 algorithm 09 ® 100
11® 12 Can you tell me how to use it?

13 (A) review (B) confidence 14® 15®@ 16®
17 (A) simulated (B) real 18® 19®

20 We crossed a bridge connecting 21 ® 22 designed

23® 24 that — what 250 26 access 27 ®
28® 290 30® 31® 320G

33 @ (Dranslates ® (c)ommunicate

34 What these inventions have in common 35 (g)o a long way
360 37 ® Seoyoung?| Hx|7t A= AW © Seoyoung?| HX|
380G 390 400
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03 That’s the year he began painting the Mona Lisa, my favorite painting.
| could ask him about the actual emotion of the model he wanted to
capture.Oi|A] & 2= QICt

04 Let’s hope for the best.& ‘EE|7|Z Hi2tA} 2t SEOZ Let's keep our
fingers crossed.2t HHY & 2= UL,

05 @ "make(AIFSAD + SX0] + SHAHO(SAIRY), 720|122 SALS| 32

2 H3 recognizesE SAFEY recognize= 11X MOF SHCY,
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15 (1) 280{ not only7t HO 2 LIQH F0{2t SAZL EX|E 0{0F StE2Z we
rescued= did we rescue2 11X MOF ST}
(2) BAIFR9| BYE AL 20l not2 MEZ don’tE= not2 2 11A MOF SiCt
16 &=, XTI, MLOIXE 22 ARtS 7L O] oh= KX S44d: natural
disaster(XAxHaH)
17 @ Mg T XSt 715 2 HEE AVsts MEt0{2A4 Most of all(RAE
CHe)o| M&stot,

® QI7te] £7:0I2 Q15 AS OIS 4 T & HIM) HFS A%H5HD U

© BHES LIZS 3 viE = AHOR 7|59 2AHolX| b2 ST &Y
AHMS AS5HL A2 T2 However(SHXIZH 7} M EGIL,

18 &2 Most of all, sitting behind the wheel would no longer be limited

18 HM((Z)

19

20

by age or ability. ... Furthermore, most accidents are caused by
careless people on the road.0ff A= 0] LI, HEE However, there are
also some serious concerns when it comes to the safety of self-driving
cars, since the technology is still far from perfect. 0l A & 4= QIC}

g =8 Arsitel A 22g Hoj s d4%st= =0|Ct

QO At 8 AtEits (AT Saut At 24 22 2 0| QX
MA, GPS, ZAHE Z2I0j thst 7|& (B)QECR Qlo AZi5t o 2 X7t
ZEXfetot.
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EXTENSIVE TEST ,

p.136~143

OVEEP 1.7 2.T 3.F
play an important role in keeping your garden healthy /
build webs to catch various harmful insects / catch up to 2,000

insects in one year / Having these natural pest controllers / you
can use fewer chemical pesticides
keeping your garden healthy / various harmful
insects / catch up to 2,000 insects / use fewer chemical pesticides
02 1.@ 2.¥
for keeping animals in zoos / why zoos are good for
animals / zoos protect animals from danger / Many animals in the
wild face threats such as poaching and habitat destruction / zoos
help endangered species survive by providing them with food and
medical care / Some animals would not be able to live without
this support / zoos allow people to learn more about animals /
Seeing them up close helps people understand animals and care
more about protecting wildlife / zoos protect animals, help
endangered species, and educate people / | think we need to
support zoos so that animals can live safely
protect animals from danger / help endangered
species survive by providing them with food and medical care /
allow people to learn more about animals / protect animals, help
endangered species, and educate people
03 held, late April, early May, the developmental stages of
butterflies, eggs, butterflies, 450 species of butterflies and insects
Dutch Bee and Honey Festival / Amsterdam,
Netherlands / Mid-August
+ Beekeepers demonstrate traditional honey harvesting methods.
« Visitors can taste different types of honey from across Europe.
+ Various workshops teach about bee conservation and urban
beekeeping.
+ Children can make beeswax candles and learn about bee life
cycles.
Dutch / Netherlands / demonstrate / honey harvesting /
different types of honey / bee conservation / urban beekeeping /
beeswax candles / bee life cycles
Beetle / are displayed / beetle collecting techniques / participate
04 get rid of, male, being born, safe, ecosystem, unexpected
use gene-editing technology to control mosquitoes
1. Some mosquitoes spread deadly diseases like malaria and
dengue, so removing them can help save lives.
2. The technology targets only harmful species, reducing risks to
other insects and the ecosystem.

3. It can lessen our dependence on chemical insecticides, making

01 1.

02

mosquito control more eco—friendly.

Pro 1. Some mosquitoes spread deadly diseases like
malaria and dengue, so removing them can help save lives.

2. The technology targets only harmful species, reducing risks to
other insects and the ecosystem.

3. It can lessen our dependence on chemical insecticides, making
mosquito control more eco—friendly.

Con 1. Eliminating mosquitoes could harm ecosystems because

they are a food source for many animals like birds and fish.

2. The technology might accidentally affect other insect species,
leading to unexpected environmental consequences.

3. We should be cautious about interfering with nature, especially
when we don’t fully understand the long-term effects.
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p.144~151

01 1. 2. 3.@
(1) talk to animals
(2) use a technology that helps us understand and communicate
with animals
(3) ask my dog why he always stares at me when | eat and tell him
how much I love him
talk to animals / use a technology that helps us
understand and communicate with animals / ask my dog why he
always stares at me when | eat and tell him how much | love him
02 1.F 2.F
the types of media apps teenagers preferred in 2022 /
video streaming / 40 / the second most by teenagers at 35% /
music / 15 / teenagers enjoy watching videos and using social
media through apps
1. the types of media apps teenagers preferred
2. Video streaming, 40
3. Social media, 35, music, 15
4. watching videos, using social media
EEN1.@® 2.0 3.0
Smart School Bag / checks your class schedule / pack
the right books and homework
1. Set your school schedule using the app connected to the bag
2. Each morning, the bag lights up or gives a sound alert if
something is missing
3. The inner compartments can even detect what you’ve packed
using special electronic tags
students never forget what they need for class
2. checks your class schedule, pack the right books
and homework
3. (1) using the app connected to the bag
(2) if something is missing (3) detect what you've packed
4. what they need for class



OAEEY 1.F 2.T 3.T

01

02

problems caused by self-driving cars / there should
be regulations that require all drivers to learn basic driving skills
in case they need to take control in emergencies / there should be
regulations that limit the use of self-driving cars during extreme
weather or on dangerous roads until the technology is proven safe
learn basic driving skills / take control in emergencies /
during extreme weather / on dangerous roads / who is legally
responsible / safety checks / regular testing / works properly
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ACTUAL TEST ,

01

HZE 00| 1A p152-159
01® 02 (release 03 ®
04 (1) cite (2) gravity (3) itchy (4) span 05® 06 @
07 ® 08 using a mosquito net 09 ® 100 110
12®

13 (1) If it were not for oxygen, humans wouldn’t be able to breathe.
(2) It was your support that helped me through the tough times.

14®

15 If he had listened to my advice, he might not have made that

mistake. 16 @ 17®

18 (1) Ul Z2i7t SiACetH, Lhis 27|31s Hidl. (2) 22/ 2Y0| TS0
A= A Hi2 239 &70M0ICt 19 @

20 It was by the fountain that we made the promise. 21®@

220

23 (1) carbon dioxide (2) certain chemicals (3) body temperature
24 ® 25® 26@ 27® 28® 29®
30 (A) (Nailure (B) (s)ettlement
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